

Prénom :

Date :

## CALCUL MENTAL

**OBJECTIF : Calculer des expressions comportant des parenthèses.**

$1 \times (7 - 3) = \dots$	$(7 \times 8) - 5 = \dots$	$(9 + 9) - 9 = \dots$	$(3 + 2) - 3 = \dots$
$(5 \times 9) + 7 = \dots$	$(6 + 7) - 9 = \dots$	$5 + (5 \times 3) = \dots$	$9 - (2 \times 1) = \dots$
$(8 \times 3) - 8 = \dots$	$(4 \times 8) - 2 = \dots$	$(7 \times 2) + 2 = \dots$	$2 + (8 \times 9) = \dots$
$4 \times (1 + 6) = \dots$	$(3 \times 7) + 8 = \dots$	$9 - (2 \times 2) = \dots$	$(1 + 6) - 2 = \dots$
$8 - (2 + 2) = \dots$	$(2 + 4) - 4 = \dots$	$9 - (4 - 1) = \dots$	$(5 \times 1) + 8 = \dots$
$2 \times (6 + 3) = \dots$	$4 + (4 \times 8) = \dots$	$(4 + 8) - 1 = \dots$	$3 \times (7 - 5) = \dots$
$(2 \times 5) - 2 = \dots$	$1 \times (5 - 3) = \dots$	$4 \times (9 - 4) = \dots$	$(9 + 5) - 9 = \dots$
$6 \times (4 - 1) = \dots$	$(5 \times 4) - 4 = \dots$	$2 + (7 \times 7) = \dots$	$2 + (1 \times 5) = \dots$
$6 \times (9 - 5) = \dots$	$(4 + 9) - 5 = \dots$	$(8 \times 8) + 6 = \dots$	$8 \times (6 - 2) = \dots$
$7 \times (7 - 3) = \dots$	$1 + (3 \times 3) = \dots$	$2 \times (6 - 2) = \dots$	$(8 \times 3) + 9 = \dots$

## CORRECTION

### CALCUL MENTAL

**OBJECTIF : Calculer des expressions comportant des parenthèses.**

$1 \times (7 - 3) = 4$	$(7 \times 8) - 5 = 51$	$(9 + 9) - 9 = 9$	$(3 + 2) - 3 = 2$
$(5 \times 9) + 7 = 52$	$(6 + 7) - 9 = 4$	$5 + (5 \times 3) = 20$	$9 - (2 \times 1) = 7$
$(8 \times 3) - 8 = 16$	$(4 \times 8) - 2 = 30$	$(7 \times 2) + 2 = 16$	$2 + (8 \times 9) = 74$
$4 \times (1 + 6) = 28$	$(3 \times 7) + 8 = 29$	$9 - (2 \times 2) = 5$	$(1 + 6) - 2 = 5$
$8 - (2 + 2) = 4$	$(2 + 4) - 4 = 2$	$9 - (4 - 1) = 6$	$(5 \times 1) + 8 = 13$
$2 \times (6 + 3) = 18$	$4 + (4 \times 8) = 36$	$(4 + 8) - 1 = 11$	$3 \times (7 - 5) = 6$
$(2 \times 5) - 2 = 8$	$1 \times (5 - 3) = 2$	$4 \times (9 - 4) = 20$	$(9 + 5) - 9 = 5$
$6 \times (4 - 1) = 18$	$(5 \times 4) - 4 = 16$	$2 + (7 \times 7) = 51$	$2 + (1 \times 5) = 7$
$6 \times (9 - 5) = 24$	$(4 + 9) - 5 = 8$	$(8 \times 8) + 6 = 70$	$8 \times (6 - 2) = 32$
$7 \times (7 - 3) = 28$	$1 + (3 \times 3) = 10$	$2 \times (6 - 2) = 8$	$(8 \times 3) + 9 = 33$